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(A)
(B)
(©)
(D) log, 5@ = \/§|x|
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0 WIBTE A A(—2, —3) EREED B(4,3), ME—SmaE 1 RELE 1,
S ERRRRTE,
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(C) BRI EE

(D) EEXH = 3 MHEH.
(E) BEXRH= 4 WAHZEH,
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1. BMla+b+c=0, BlogA=a,logB=b,logC =c,

1

Kk AGTY) . BGTY .Gt =2

2 BAlz? 4+ (a—1)z2 + (1 — 2a)z + (a — 1) = 0 B=RHE,
3K a AJRERY{E.

3. BAl z 28A, K sin x cos® z R A(HE,

4. SBNAANTA. B. C. D. B, . A. THAI,
B A. BEHHE C. D 582, BRZHEHE. BRTEMR, RAEH

5. AABC MI=Rf «, B,
2 tan~y — sin a + sin 8
cosa + cos 3

. sin(8—a)=cosy, K a,B,y=7

1127k (FefEhk)



-1 y+1 2z-2 z+1 y—3
= = \L2: = —
5 2 1 1 —1 1

zi ) Ly Ly, Ly 2B, £ P85 [, LA L, 58S 2, O B

L2 J:E.'Eﬁi L3 EE%&% 2, Sﬁmo

6. DAIZERIATRES L, : —

7. BH 2 +az+2+i =0 GEEER, R |a| 28/IME

8. FE_L=% A(—3,—3),B(3,5), B4 LAPB > 90",
KA P BB B

9. BAI 222 + 312 = 6, Kz + 2y HR/IME,

10. lim vVn2+2n—1—+/n3 +2n2 -1 =7

n— oo
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W f(z) = —a® + 22, glz)= [ f)dt+ [ F(t)dt, R g(x) mfE.

12. f(z) B—SEREH, B f(z) B (z — 1)? 8RS 3z + 5,

g i DD = @)

rz—1 r—1

13. BNl m #BAH, BEHRNERER# n, n™ —n 3 70 HEH, K m BAJ&E
&/|MEo

14. /2 — 2x

=. stEEHEE (X 33H)
1. FEERA -
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2. FEEE—HER,
LGB EF—ERFEIMEFE, ET2EARS L (RE)
AURItBER&RAE, BIRRFEZ FERM?

3. B (n)z)l—g +‘1—

K S B EmREARE ?
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1000
2 18 -5
3 2v3

9

4 1440
5 a=45",86=75",y=60"
6 24/10
7 2v5 44
8 25T
9 —V11
10 !

3
11 548
12 18
13 13
14 548
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S (0,0) E#ZER (n,n) WHAHK
s L L?
stEEe 2 wiw = 2 E =

: = T RS o

sHEIsEeA 3 6m — 12
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